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(A) FREREZFHIRFIRE 2.8 GHz (B) EEEEEER 256 MB
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(A) DES ( Data Encryption Standard ) (B) IPSec ( Internet Protocol Security )

(C) SET ( Secure Electronic Transaction ) (D) SSL { Secure Socket Layer )
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(A) WWW (B) ICQ (C) FTP (D) E-mail
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(A) BMP (B) GIF (C) TIF (D) JPG

THHE—IE AT LAE Visual Basic 355 01 THEE R EEE GHE 7
(A) ImageBox (B) PictureBox (C) TextBox (D) MsgBox

T3 Visual Basic 85 T EER B TIR » A& EHE ?
suml =0
sum2 =0
k=0
Do While (k< 10)
suml =suml + 1
sum2 = sum2 + k
k=k+3
Loop
(A) suml =4 (B) suml =10 (C) sum2 =19 (D) sum2 =755

T Visual Basic 382 BRI T1R » A8 LHE ?
a=>5
b=10
If(aMod2=0) Then
a=a+1
Elself ( b Mod 2 =0 ) Then
b=b+2
Else
a=a+{
b=b+{
End If
(A) a=6 B) a=7 ©) b=11 (D) b=12
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